QUIZ 4
Stat 101

Quiz 4 Spring 2003

Course Component Value: [6]




Name: __________________________

Instructions: Circle the letter associated with your response selection or provide the requested information.

1) [1] Identify which of the following is not a correlation coefficient:

A) 0

B) -.5

C) .23

D) 1.1

2) [3] Complete the missing steps in determining whether or not to conduct linear regression. 

1) Does the relationship make logical sense?

2) __________________________________________

3) __________________________________________

4) __________________________________________

5) Determine the liner regression equation

3) [2] A group of 92 health club patrons measured their pre-exercise and post-exercise pulse rates (recorded as Pulse1 and Pulse2, respectively).  The correlation for between Pulse1 and Pulse2 was .616.  What would be the correlation for Pulse2 and Pulse1?

A) .616

B) -.616

C) .384

D) -.384

4) [1] Which correlation coefficient would be a best guess for the variables presented in the following scatterplot?

A) -.75

B) .50

C) -.94

D) .94
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